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Why teach ‘half’, it is also even by “all’ — 21 Y912 95K 1527 X37IR IN%

OVERVIEW

The X3 reconciles the two NMin>°13, saying that the Xn*72 which stated up X7 is
where it was X w2, The X713 asked why then does the X5°0 of this Xn>72 state
that if it was ¥ "1 in one VW they are not 1P, but why mention *x11 (which is
more reason not to be 1P [since he is 7wn]), since the rule of 1P X% applies even
if he said 912, Our Mmoo explains why the X3 did not attempt to answer this
question with the same answer it gave previously in a similar situation.?

Moo responds to an anticipated difficulty:
- 3RUMIN 993D NOYD Nam »19WD ND*D NON

Here the X713 could not have answered Rw>SX 1939 XD0 Nin -
$I999 9NY NN NN N 1’2 "",715"‘\ PR AN 90V2T NOIVIT

For it is obvious that the v is discussing even 1212, for if he gave them both one

"vw, there is no difference whether he said >3 31 or whether he said 2. It is
(the same) 2109 in either case

SUMMARY
By one 7vw there is no conceivable difference between 2 and 1912.

THINKING IT OVER

Why can’t we say that without the X5°0 we would have thought that the X is
only by >xn,°> and by writing >3 in the X9°0 it is Xw>X »737 that it is even by 112
because of N2 7% ®9Y 7772°

!'In our N3 the text reads 17°9% 21 *xn (instead of 12°0R *xr).

2 The ®7m3 initially reconciled the two nIn»92 by saying that the X072 of 11p X2 is where he said ¥ The x»3 asked
but in the X9°0 of that Xn»12 it states "1p X? ¥ X oXY, indicating that the Xw1 is not discussing °%n. The Rx
answered that the X9°0 is merely explaining the Xw> and X12non 1" for if the Xw is by 1910 then why mention %7 in
the X9°0 since it is obvious. The &3 rejected this X12no» 177, saying R »1237 X9°0 "1 that even by 1913, it is 3P &2 .
3 The reason the X0 mentions that by 17 X2 *x¥n (even though it is obvious, since P X? even by 1713 [see
‘Overview]), because it was necessary for the Xn>92 to inform us that 1p X2 even by 1710 (if it is TR W), so it
mentions X1 in the X9°0 so we now know that the Xw1 is 1915 and nevertheless 11p X5.

41f it is one "vW to both a*7ay it is 9109 because of An12mYY 7% X1 7% (see “vwa 7"7 *"wA), so it makes no difference
whether he said 1215 or *¥n. Previously however where the 9109 is because of 7»wn, in that case there may be a
difference between 1213 (where he is not 1»wn) and *xn1 (where he may be 2»wn), therefore it is appropriate to say Rin
XWX ™77 89°0 that even by 215 (where he may not be 2»wn), nevertheless it is 2109.

> We may not have known of this rule; 7in72an?1 7% 891 1%, this is what the X072 is teaching us!

6 See Tmn woN R # 124,
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